
Oefentoets
Wiskunde	LJ2P2
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Denk	bij	het	assenstelsel	aan:	
• pijlpunten	
• x	en	y	bij	de	assen	
• streepjes	op	de	assen	
• cijfers	bij	de	streepjes
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l:  y = −½x + 4

m:  y = −1½x + 8

q:  x = 5

p:  y = 3

(8, 0)

(0, 8)
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y = −2x + 8

a
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2.

y = x + 1

y = 4x + 4



3. Snijpunt	berekenen

a).	 − 3x  +  1250     =     ¼x  −  24

− 3¼x  +  1250     =           −  24
− ¼x − ¼x

− 3¼x                   =        −  1274
− 1250 − 1250

x   =   −1274   ÷   − 3¼
x   =     392

y   =     − 3× 392  +  1250 
y   =     − 3x  +  1250 

y   =     74

Snijpunt:	
(392,  74)

y   =     ¼× 392  −  24 
y   =     ¼x  −  24 

y   =     74



3. Snijpunt	berekenen

b).	 6x  +  520     =     − ½x  −  780

6½x  +  520     =              − 780
+ ½x + ½x

6½x                 =           −1300
− 520 − 520

x   =   −1300   ÷   6½
x   =   −200

y   =     6× −200  +  520 
y   =     6x  +  520 

y   =     −680

Snijpunt:	
(−200,  −680)

y   =     − ½× −200  − 780 
y   =     − ½x  −  780 

y   =     −680


